Explain how the diagram shows both g

4
and -
6

Which is the odd one out? Explain why

R

The diagram is
divided in to six
equal parts and
four out of the six
are yellow. You
can also see three
columns and two
columns are
yellow.

>

This is the odd one
out because the
other fractions are

all equivalent to %

Teddy makes this fraction:

Mo says he can make an

CO
<

denominator of 9
Dora disagrees. She says it

can't have a denominator of 9 %

because the denominator would need to
be double 3

Who is correct? Who is incorrect?
Explain why.

equivalent fraction with a -

Mo is correct. He
could make three
ninths which is

equivalent to one
third.

Dora is incorrect.
She has a
misconception
that you can only
double to find
equivalent
fractions.



